MAH MCA CET 2023 Question Paper with Answer Key
(Memory-Based)

Ques. Find odd word
(a) Root (b) Foundation  (c) Base (d) Tunnel

Ans. (d)

Ques. What stored in email address
(a) domain name and user name

(b) user name and his domain

(c) postal address and name domain
(d) Domain address and postal namei
Ans. (a)

Dolphins are regarded as the friendliest creatures in the sea, stories of them helping drowning
sailors have been common since Roman times. The more we learn about dolphins, the more
we realize that theirsociety is morecomplexthanpeoplepreviouslyimagined.Theylook
afterotherdolphinswhenthey are ill, care for pregnant mothers and protect the weakest

in the scientists' community, as we do. Some suggested that dolphins have a language but it is
much more probable that they communicate with each other without needing words. Could any
of these mammals be more intelligent than man? Certainly the most common argument in
favors of man's superiority over them, is that we can kill them more easily than they can kill us
istheleast satisfactory, on the contrary, the more we discover about these

remarkable creatures, the lees we appear superior when we destroy them.

Ques.tisclearfromthepassagethatdolphins

(a) are the most powerful creatures that live in the oceans.
(b) Have a reputation for being friendly with humans.

(c) are proven to be less intelligent than once thought.

(d) are capable of learning a language and communicating with humans.
Ans. (b)

Ques. The fact that the writer thinks that we can kill dolphins more easily than they can kill us
(a) proves that dolphins are not the most intelligent species.

(b) means they are better adapted to their environment than we are

(c) does not mean we are superior to them

(d) show that they have a sophisticated form of communication

Ans. (c)
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Ques. What is the Advantage to using basic HTML to create documents ?
(@) HTML is very easy

(b) Document can be display by all word processor

(c) Document can be display by all programmer

(d) Document can be display by all browser

Ans. (d)

Ques. Odd man out

(@)MicroComputer (b)MiniComputer
(c)SuperComputer (d)Notebookcomputer
Ans. (d)

Ques. Which letter in ninth to the left of the thirteenth letter starting from the
last

letter in the English alphabet

(@3 by H d)G

Ans. (c)

Ques. What is the right sequence
(1) Andhra Pradesh

(2) Universe

(3) Tirupathi

(4) World

(5) India

(@) 1,5,3,2,4

Ans. (c)

Ques. A five digit number divisible by 3 using digits 0, 1, 2, 3, 4, 5 is to be made without
repetition. Find of such word.

(a)216 (b)260 (c)316 (d)200
Ans. (a)

Ques. Synonyms :
Inherent
(@) command (b) Auxiliary (c) acquired (d) latent

Ans. (b)
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Ans. (d)
Ques. 1,4,9,16, 25,

(2)36 (b) 42 () 35 (d) 49

Ans. (a)

Ques. Englishforfiveyearss

(@)Study (b)amstudying
(c)Havebeenstudying (d)studies

Ans. (c)

Ques. Which one is different

(@)Humble (b) Civil
y X+y X
(c)Rude (d)Polite
Ques. I have Great Antypathy those who are hypocrites
(@)to (b)against (c)him (d)for
Ans. (b)

Ques. Which is odd word
(a)Barometer (b) Diameter (c) Thermometer (d) lactometer
Ans. (d)

Ques. A block of 66 by 49 by 12 is melted to form a sphere, then radius of sphere
is approx

(@20 (b) 23 ()21 d) 22

Ans. (c)

Ques. Find the different number from the series 12, 24, 47, 63, 185, 369, 737

(@) 24 (b) 93 (c) 737 (d)185
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Ques. One can infer from the reading that _

(a) dolphins are quite abundant in some areas of the world.
(b) it is not usual for dolphins to communicate with each other.

(c) dolphins have some social traits that are similar to those of humans

(d) dolphins have skills that no other
ability to think.

Ans. (c)

Ques. Antonym of the word EXPANSION

(a)Inflation (b) Extension(c)Compression(d)augmentation

Ans. (c)

Ques. The new law on "Right to Food Saferty" will come into force next month.

(a) beforceduponthepeople

(b) beassociatedfromnextmonthonwards
(c) beimplementednextmonth

(d) bewithdrawnnextmonth

Ans. (c)

Ques. Complete the series

?,7,14,42,168, 840
(@21 (b) 30 ©32
Ans. (a)

Ques. Find out the different one
(a)Circle (b) Ellipse

(©) Cube (d)Sphere

(d)25

ek N
College



Ans. (c)

Ques. Plant entered the latent phase of development in the fall. Latent means
(a)First (b) Growth (c)Last (d)Dormant
Ans. (d)

Ques. Synonyms of

Docile

(@) gentle (c) restive () rebel (d) willful
Ans. (a)

Ques. Synonyms of
ENIGMA

(@) indefinable (b) appease (c) clearfix
(d) enlighten
Ans. (a)

Ques. As RATIONAL is to RATNOILA such as TRIBAL is to

(@)TRUABL (b) TRIALB (c)TRILBA
Ans. (b)

Ques. Let K be the set of all odd number less than200 and m be the set of product
of two distinct number taken from kthenfind the total number whichis
divisible by 5in m.

(@)392 (b)350 ©330 (d)450
Ans. (a)

Ques.Rearrange the word "TAILER" without repatriation ofdictionary positionof
word. (supposethenumberingstartsatlandincreasingbyperword)

(a)atleast 589 (b) atleast689 (c)atleast659 (d) atleast569
Ans. (d)
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